


MA161 Exam 1

Show all work to receive credit. Access to internet / graphing calculator / etc
during the exam will result in a score of 0.
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6. (you need to do at least three of the following; additional ones
may be done for extra credit.)
Evaluate at least three of the following integrals:

(a)

/233 tan™ 'z dx =

%Lc R

c g =
(€) s (=9 = YT
/\/1‘2—9dx_ - qce B 3 romé- 2 s co- T g,
ot N oo = At ) = >and 3l e
Ny TN A 2
= L oNn &
dv = 2 et o <06
(d) o 3
= {,SS)’“S PSS de = L gg,i«fecogedp
e3® sindx dv = = - =7
w~ S iqguliw
d\}"\ - [#=33 S8 =
%
= by
&)

()

22
/d:c—
V16 — 22

(f)

/ 2 +4x+6
T TTD =
(2?4224 1)




(d) Sl < ?W :;> I\,B,?, lg 13/(/ Pe;r?byt\?_ %L}\V\j/_jy, CSi\/‘>

- B =) IRP twe ,'% ca\le A
/ e3% sindx dx =
= e}7L du= T a\y
S - — 4
_ C= L cos L)
don = 22 — .
7 X 54
. ’(X 7 j’( _ e - —43& ~
€ et *?&e S Ay = G+ T{%\JX N U1
9
= X A= et My 3%
W= e <=




(a) s pwdnd DT B (L\PET)

/2xtan_1a:da:= w= Tea' dn= Lx
’\ = < = ><’Z~

1+ X

B _‘ 2
x don'y - TEx
Ses- \-\-]g'/ A V\—-,SV\IO % B= 478

1 =

X = tonbd
N 1 L

= [+ toms = KCO

% . dy= &lods
T
(s el dn
Sy

thilx /\S+aw18&%
LAk —598’@4 ho = = Aavl _ (secod + Qtolo
= 7<l+0\v71>< — g + ©
. 4

AN

e bnc_)l(— | LS

é\ y & = tou (X)

Wty — % +tan (%)
Lo




	Untitled
	Untitled
	Untitled (page 2)
	Untitled (page 3)
	Untitled
	Untitled

